[ Efficiency vs vertpos |

= 0.0%
$.009
[
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.001]

1.9

Ratio

o
©
a

s

=
2

Efficiend

N
=

N
=

[ fake+duplicates vs vertr

— 0.0%
@
.009
[V
%9.008
S
8.007
©
$.006
X
$H.005
0.004
0.003
0.002
0.001

Ratio

EEEEE:]

UUUUL}

[Sejeieele

DD DD

~ 0.0

Rt AR S T R
(,, : : : : :
0.008F------ AR R i P
> : : : : :
$.007------ R S R P
5 : : : :
$9.006F - A AR AR I P
o : : : :
0.005F------ R S R S P
0.004f------ Breseeeeden Breeendeees P
0.008F oo b
I SS L L S
I

Vs

Ratio

H
T
+

0.95!

10 20 30
TP vert z (cm)

-10 0

[Efficie

ncy vs.sim PV z |

~ 0.01
>
£0.009
B.008
9.007
>
B.006
R
$.005
(]
0.004
0.003
0.002
0.001}

.................................

..................................

1.0

Ratio

=20 2 4 6 8 10
Sim. PV z (cm)

-10 0 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

~ 0.0

>
0.009
5.008
$.007
o
©.006
[
£.005
(&
2.004
=

20 40 60

30 20 0

Sim. PV z (cm)



	Contents
	Page 1


